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1. Calcula:

Multiplicación por 
múltiplos de 10

a)

 

b)

c)

3 • 10 = ______ 

42 • 1000 = ______ 

100 • 19 = ______ 

2. ¿Cuál es el número que falta en 35 • ____ = 3 500? 

a) 

b)

c)

d)

10 
100 
1.000 
10.000 

3. Si multiplicas 1.200 por 30 obtienes: 
a) 

b)

c)

d)

360
3.600 
3.660 
36.000  

4. ¿Cuál de los siguientes números no es múltiplo de 10? 

a) 

b)

c)

d)

 840 
108 
130 
1400 
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1.  a) 30 
    b) 42000 
    c) 1900 

2. Alternativa b. 

3. Alternativa d.

4. Alternativa b. 

Resultados:


